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Answer tyfo questions 

The bars given in their entirety need not be shown in your answer. 
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Complete this passage from Thomas Tomkins's Almighty and everlasting God (for unaccompanied 
soprano, alto, tenor and bass) by adding the missing parts for alto, tenor and bass to the given part for 
soprano. 
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li] Complete this passage from Henry Purceil's Plung'd in the confines of despair (for two tenors 
V4i(d a bass with basso continuo accompaniment) by adding the missing parts for the two tenors and 

basso continuo to the given bass part. The bass line of the music is provided by the basso continuo 
which diverges somewhat from the vocal bass. You need not add the figuring. 
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3 Complete this passage from a duet in Handel's Israel in ligypt (for alto and tenor with 
accompaniment of two violins and basso continuo) by adding the missing parts for the two 
violins, the tenor and the basso continuo to the given alto part. From bar 40 onwards the -
basso continuo part is more continuous. The violins only play at cadences. 

ay 
2 V. 

T m. 
m 

r 

zv 

A 

1 J r j^-j r-T > — I V -
— # — d — * J 
^isc eei ibrtK Thy-

F W p - f' V ^ * 
i p :=t L J — f 

—1 

C> » T*^— 

S3 

8c 

7̂  

4 ^ 

Thy 

re - </€€«--

which thou. /i4sf deem 



5 

[TURN OVER 



8 

4 Complete this passage from Haydn's Mass in E flat (in Honour of the B.V.M.) (for S.A.T.B. 
chorus. The orchestral parts here omitted double the voices) by adding the missing parts for alto, 
tenor and bass to the given soprano part. > 
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5 Complete this passage from Brahms's Adoramus (for two sopranos and two altos) by adding the 
missing parts for second soprano and the altos to the given first soprano part. 
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6 Complete this passage from John Gardner's Uie end is the beginning (for unaccompanied 
S.A.T.B. choir) by adding the missing parts for alto, tenor and bass to the given soprano part. 
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